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PAPER 1

(GENERAL)

1. The dynamic approach to teaching-learning
process means that
(A) teaching should be open to change.

(B) teaching should be made relevant to
students’ needs.

(C) teaching should emphasize student
participation through learning activities.

(D) teachingshould take into account students’
responses.

2. Which technology allows sharing of Internet
access of one mobile node among other nodes using
wireless medium?

(A) Bluetooth
(B) Zigbee
(C) Broadband
(D) Hotspot

3. A given mixture contains milk and water in the
ratio4 : 3.If 5 litres of water is added to the mixture, the
ratio becomes 4 : 5. Find the quantity of milk in the
given mixture.

(A) 8 litres
(B) 9 litres
(C) 10 litres
(D) 11 litres

4. Whichofthe following types of research depends
least on empirical facts?
(A) Ethnographic research
(B) Phenomenological research
(C) Philosophical research
(D) Experimental research

1. stomoion e sfefie »igr Ferce sisat IR
(A) T @ AfTSEe oo SUe A |
(B) Mremiece ®tad A@Gd A AP

I COfeTl T |
(C) rmits i< frareticom ail P diona
SRHAZER G @Y A7 T TS |
(D) fREpmic PR aifefem sz w1 Sfve |

2. THRED REA (RRER 930 (6 2O S
TS (TR T AR &G
(A) 52 (Bluetooth)

(B) fesif@ (Zigbee)
(C) T (Broadband)
(D) 255 (Hotspot)

3. G e 44 8 TR e 4« 3 |9 63 e
RS 5 BI6R & (@191 T2 2, O A 42 527 | Sieel
TR AT

(A) 8T
(B) 9 foio=
(C) 10 feioim
(D) 11 feora

4. FEEolrR T @ @@ &R 2w
SRV (empirical) SCAF @9 ez e w732
(A) oIt (Ethnographic) 2Itaell
(B) #sixfiw f$fed (Phenomenological)
Sa=ell
(C) wfeirg fefes (Philosophical) oIca=ell
(D) SRS (Experimental) 913l
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5. Match the items

of List-I with the items of

List-Iland indicate your answer by selecting the correct

code.
List-1
(River Dam Project)

(a) Shivasamudra
Project

(b) Hirakud Project
(c) Mandi Project

List-11
(Location)
(i) On Krishna in AP

(i1) On Beas in HP
(ii1) On Mahanadi in

Y-4

Odisha
(iv) On Cauvery in
Karnataka

(d) Nagarjuna Project

Codes:
@ (b © @
A) ) Gy @) @[Qv)
B) Gv) Gi) G (@)
© G @G @G @Gv)
D) @Gv) Gy Gi) @)

6. The name of the virtual assistant promoted by
Apple Inc., which can create reminders, take notes, set
alarms among many other tasks is

(A) Alexa

(B) SIRI

(C) Echo

(D) Google Home

Directions: Study the following table and answer
Question Nos. 7 to 10.

Expenditures of a company (in lakhs of rupees)

5. e’ @R Sl -93 @ e T
MeT T (A AT T (AT 0o =3 |
©ferm-1 Ol

(Tt 4 24w )
(a) FPTIm 25w (i) el TA-STFH AW
(b) AW 2w (i) fRPram-fesbet eiomi
(c) WS 2% (iii) w2A-ofGi
(d) Malleie =iz (iv) FIEI-(TF

e

(@ () () (@
A @O G G Gv)
B) Gv) @) () @
© @G (@) 3@ (@Gv)
D) Gv) G G @)

6. Apple Inc.-99 @ virtual assistant-4< HRIJ
reminders, take notes, set alarms 'S 9«jiej S 2N
RIEA BRI

(A) Alexa
(B) SIRI
(C) Echo
(D) Google Home

rwmIsl: e 7 7 (AF 10-99 &) ea (Bfe gaae
FPA|
G35 @ Il <90 29 (77 SiIF)

per annum over the given years: Aog TRasfere (et Te:
Items of| Salary | Fuel | Bonus | Interest | Taxes REICT) # g
Expend- and on Loans AFCeT e *
iture Trans- aR A7 oW
Year port Trd RIORIS)

2014 288 98 3-00 | 234 83 2014 288 98 3-00 | 234 83
2015 342 112 | 252 | 325 108 2015 342 112 | 252 | 325 108
2016 324 101 | 3-84 | 416 74 2016 324 101 | 3-84 | 416 74
2017 336 133 | 3-68 | 364 88 2017 336 133 | 3-68 | 364 88
2018 420 142 | 396 | 494 98 2018 420 142 | 396 | 494 98

7. The total expenditure on all the items in 2014
was approximately what per cent of the total expenditure
in 2018?

(A) 62%
(B) 66%
(C) 69%
(D) 71%

7. 2014 Al @=>iifa @6 2495, 2018 A @i
AT ST *fodl oAfasie ze
(A) 62%

(B) 66%
(C) 69%
(D) 71%




8. What s the average amount of interest per year
which the company has to pay during the period?
(A) Rs. 32.43 lakh
(B) Rs. 33.72 lakh
(C) Rs. 34.18 lakh
(D) Rs. 36.66 lakh

9. Theratio between the total expenditure on taxes
for all the years and the total expenditure on fuel and
transport for all the years respectively is approximately

(A) 4:7
(B) 10:13
(C) 15:18
(D) 5:8

10. The total amount of bonus paid by the company
during the period is approximately what per cent of the
total amount of salary paid during the period?

(A) 0-1%
(B) 0-5%
(€) 1-0%
(D) 1-25%

11. The term “Pedagogy” refers to
(A) methods of teaching
(B) skills required for teaching
(C) theory and practice of teaching
(D) effective classroom practice

12. The full form of ‘NKN’ which is responsible to
provide unified high speed network backbone for
educational institutions in India is

(A) New Knowledge Network

(B) National Knowledge Network
(C) National Kilo-byte (KB) Network
(D) Nation-wide Knowledge Network

Y-5 00-1

8. @™ awe AR 51C Jw AT 2o
(A) 32.43 7% GIFl

(B) 33.72 &7 GIl
(C) 34.18 &7 GBIl
(D) 36.66 7% GIFl

9. @I T JeAleIe T AWM @G 4T @R

G @ AORTS AW GG LA ST ST 26
(A) 4:7

(B) 10: 13
(C) 15: 18
(D) 5:8

10. °& IgAefce @i ove @it @« @6
M ST sfowal oAfasie 2o
(A) 0.1%

(B) 0.5%
(C) 1.0%
(D) 1.25%

11. ‘coreisifer J@ce ==l IRl
(A) FrwmieR Jwfe
(B) FremIta &y Si2eld ol
(C) fremitTa ©g € 561
(D) efCwa ST S o7

12. ‘NKN’ 3 ©Fer =l 2fevmafics unified
high speed network backbone (M3 ©I< ﬂﬂ%ﬁ”f gl
(A) New Knowledge Network
(B) National Knowledge Network
(C) National Kilo-byte (KB) Network
(D) Nation-wide Knowledge Network
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13. Anobservational study thatemploys continuous
or repeated measures to follow/observe particular

individuals/groups over prolonged period of time after
years or decades is

(A) Cross-sectional study
(B) Census study

(C) Longitudinal study
(D) Descriptive study

14. A sampling frame is
(A) asummary of the various stages involved
in designing a survey.
(B) an outline view of all the main clusters of
units in a sample.

(C) a list of all units in the population from
which a sample will be selected.

(D) a wooden frame used to display tables of
random numbers.

15. Grading the final learning outcomes is known as
(A) Summative evaluation
(B) Formative evaluation
(C) Continuous evaluation

(D) Normative evaluation

16. What is the next term in the following series?

2

P

2,1,

oo | —

1
> 43

N —

(A)

W =

(B)

©)

Y-6

13. @ *Riae @36 ifet a1 Foul Gk a1 Sfeom
ICL B Pl I I E IR I GE I G IO EER EEI I
BIEREESIERAC G|

(A) TA-GIIE IBIE (Cross-sectional study)
(B) TP 35If® (Census study)
(C) SRS 351 (Longitudinal study)

(D) (wAfE5® 35ifE (Descriptive study)

14. @30 ‘sampling frame’ 2

(A) @3 survey T T390 o [fen
ANCFHCAT ARCF |

(B) Sample-« 3ICy 3% 327 clusters of units-
G AT |

(C) Population-493 37T units-43 Il @A
(AF 45 sample 5 41 77 |

(D) @36 Wooden frame FIF R random
numbers Z<FH T 23 |

15. T3 HONE TR @0 6T 2
(A) ATS JETRE
(Summative evaluation)
(B) F0I0® &z

(Formative evaluation)

(C) T=fbea o=

(Continuous evaluation)
(D) F=iibe JERE

(Normative evaluation)

16. | @S T oAgTe 7L e

SRR
A 5
B) o
© %

N



17. Given below are different steps of teaching
process:
(i) Relatingthe presentknowledge with the previous
knowledge
(i1) Evaluation
(iii) Reteaching
(iv) Formulating objectives
(v) Presentation of materials
Choose the right option from the codes given
below giving the right sequence of the steps starting
from the beginning to the last.
Codes:
(A) (1), i), (iiD), (Qv), (v)
(B) (i), (@), (iii), (v), (v)
(©) @), @), (v), (i), (iii)
D) (v), (iv), (i), (@), (i)

18. Which application protocol is used for
distributed, collaborative and hypermedia data
communication in World Wide Web?

(A) FTP
(B) DNS
(C) HTTP
(D) rlogin

19. The term “research methodology” refers to

(A) the methods used in data collection and
analysis.

(B) the rules for writing a research report or
paper.
(C) thespecific methods of study and analysis.

(D) the theoretical paradigms for data
collection, analysis and interpretation.

20. The study of body language, gestures, postures,
facial expressions and body movements is known as
(A) Proxemics
(B) Vocalics
(C) Haptics
(D) Kinesics

Y-7 00-1

17. Tio P afeaia < fen aiof e =iz @3
QPSS ATIST T S (AT (AT A @ A 238 A
meTl ea (A wa Ted (@@ F e @

(i) TS QIR TPIRS @I 77T Zloie I

(ii)

(iii) ={arE Frwme

(iv) Sy Jam 1

(v) T Sl
57
(A) (1), (i), (iii), (iv), (V)
(B) (i), (1), (ii1), (v), (iv)
(C) @v), (1), (v), (i1), (iii)
(D) (v), (iv), (ii1), (1), (i)

18. @@ protocol IGIRF A distributed, collaborative
@€ hyper media data communication <<l 23 World
Wide Web-4 o 367

(A) FTP
(B) DNS
(C) HTTP
(D) rlogin

19. oIl *i&fe’ IeTe Sl IR
(A) O 79T ¢ Reaaed “afe |
(B) Sitaweliof@at sicaael afforame T4 fasiaai |
(C) aitaelt @3 Resacea g safe |
(D) o2 Mkafz, [Resd @3k IR ©ifes 12% |

20. = NfEF©RI (body language), S5rS 3% (gestures),
SIS (postures), E{*J@FJT (facial expressions) 9<%
T2 FAEIET (body movements)— G2 SIS T =T

(A) 2EIRE (Proxemics)
(B) CSI=IfeR (Vocalics)
(C) Z=i3r (Haptics)

(D) JZEPR (Kinesics)
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21. Four students W, X, Y, Z appeared in four
papers I, I, IIT and IV in a test. Their scores out of 100
are given below:

Students Papers
I an dmn - av)
Y 60 81 45 55
X 59 43 51 55
Y 74 60 71 65
Z 72 76 58 68

Which candidate has secured between 60-65
marks in average?

(A) X
B) Y
© W
(D) Z

22. Whichofthe following is the cause of extinction
of plants and animals in water?
(A) Nitrogen depletion
(B) Chlorine depletion
(C) Oxygen depletion
(D) Ozone depletion

23. Achievement tests are commonly used for the
purpose of
(A) selecting candidates for a specific job.
(B) selecting candidates for a course.

(C) identifying strengths and weaknesses of
learners.

(D) assessing the amount of learning after
teaching.

24. Choose the missing word in place of (?) on the
basis of the relationship.
?: ALKLO : : WOULD : TLRIA
(A) DONOR
(B) CONES
(C) BARGE
(D) BLOCK

25. The regulation for protecting private and
organizational data recently being used across the
globe is known as

(A) Global Data Protection Regulation

(B) Intellectual Property Regulation

(C) General Data Protection Regulation

(D) International Patent Law and Regulation

Y-8

21. &5 ATrFR 41 2ol L 1L 101, TV &) 4 &=
Ba W, X, Y €38 Z-493 953 100-93 Ny 70 sl =

&g 2r9lq

@D an  dn - av)
W 60 81 45 55
X 59 43 51 55
Y 74 60 71 65
Z 72 76 58 68

Tl BIF RICGF S FIF 91T 797 60-65-93 &) SN2 2

A) X
B) Y
(O3
D) Z

22. SIS fen @R i fRegfes iad e
(A) RR@ICsES N« §17|
(B) @RI WgF g™
(C) IReE W@ g
(D) erElts ais g

23. oY T ARETS F FRCE IS 22
(A) T8 e oo AT A=l T |
(B) (I Ay@eid & Al 53 Face |
(C) Tridiora e 43R yHeTel *e F409 |
(D) Tz 7131 Gl STeiC #AfRsT1=1 STy ie e |

24, F=AF A AL (?) B G #3 I 40
ool

(7) : ALKLO : : WOULD : TLRIA
(A) DONOR
(B) CONES
(C) BARGE
(D) BLOCK

25. @ ffa at =iiEe wE weEsiE Sk [fen
TN e IR AT S 3 41 2 O T
(A) RIS B! (AT ([T
(B) BCGERRRAIE Aol @atemia
(C) (ST TIoT (AT (BT

(D) THIHIET (055 o1 SIS (RS



Read the following passage and answer Question
Nos. 26 to 30:

Sport is expected to operate at a higher moral
plane where the effort is honest and transparency
remains an abiding principle. It is a utopian ideal
leaning on pure performance, copious sweat and
relentless training. But in a practical world greased
with greed, besides match-fixing, there is another
terrible offence: ingestion of performance-enhancing
drugs. Athletes like Canada’s Ben Johnson were
labeled as drug-cheats and rightly denied their Olympic
medals. The World Anti-Doping Agency (WADA),
sinceitsinceptionin 1999, hasimposed stringent measures
so that sport stays drug-free. In India, WADA’s rules
have been enforced by the Government-run National
Anti-Doping Agency (NADA) and almost all sports
federations had fallen in line except one behemoth —
the Board of Control for Cricket in India (BCCI). But
that aberration was erased as the BCCl accepted NADA’s
supervision following a meeting between its CEO
Rahul Johri, General Manager Saba Karim and Sports
Ministry officials led by Sports Secretary Radhey
Shyam Julaniya. Indian cricket’s governing body finally
agreed to subjectits playersto NADA’s testing routines.
Beforeits turn-around, the BCCI had resisted NADA’s
intervention. The main objection pertained to the
“whereabouts” clause, which made it mandatory for
aplayertoreveal where he would be on a daily basis.
The need for privacy was offered as an excuse.

Earlier, the BCCI had its in-house dope-tests but
itonly lent credence to the allegations about conflict
of interest. The issue came to a boil when Prithvi
Shaw was given a back-dated eight-month suspension
after he tested positive for abanned drug, Terbutaline.
The 19-year-old batsman, who was checked in
February, claimed that the substance was present in
an over-the-counter cough syrup. Shaw’s excuse and
the BCCI’s quick acceptance of his self-medication, bred
scepticism. It is either naivety or a classic cover-up
from an Indian cricketer, who had been advised
about the chemicals that have to be avoided even for
therapeutic purposes. The silver-lining is that the
episode hastened the BCCI’s move into the NADA’s
ambitand also cleared the decks for the Indian women’s
cricket team to compete in the 2022 Commonwealth
Games at Birmingham. With the BCCI belatedly
allowing NADA to monitor its domestic cricketers,
by extension the International Cricket Council too
has finally come under the WADA'’s unerring gaze. In
these hyper-kinetic times, it is a fallacy to stress that

Y-9 00-1

fermfeiie Seroan® 7T 26 (AT 30 779 57 el
Teq fue:

R @3 I THB(E SR I, (T oo
@ Fvzol 76 @3 Jeaife | @it @l et 2SI
v, @A e, -y wAfFes @<k e e
wFgdlf| fFe AW Tolte @ten @l vifte =@
(fapre T2e faw) Win-fefer Tole o7 @l Tes
AN & 2% : FAEFOIEE QIS QS | Pl
(@ G 0] (TSRS Gl (TG Sel) ST &hest
ffze Tl 2rEles ¥R IAFLSIE ST S @Eres
(A e T4 z@fes | earw W% (oifk aret
(WADA), €3 &fS9IFE 1999 (A (HEAENT GloNe
AT G 2T I BEAE | OIS WADA-F femiifs
Ao 1 2 FFFIR-+ADIfere 77l [yieet smift ceifoik
GUE™ (NADA -3 ST @R AT G PG| 7510712 @
SEOE | oG GF JIITE ALZ (([EI)—7 (@S
% FHIE T4 F @ (BCCI), e @3 a5a4iv oz 7
T4 BCCI NADA-3 S€REIN (It (73 {0 ST
TSIF W, @2 2o BCCl-93 CEO e &34,
(SIS SIS A FI Q3R SO SiHsifmel,
TR o0y o™ Fomba qees gafw | Smer
T4 srefek 3T 1T 1€ NADA-F 213617 Tzt
(G foI0e o770 27 | «3 =1l BCCL, NADA-S ser@awifdl
T RIS 2Re | o1 SNisifed el fos Srrgisre
2 e, el GG (AT (M SIRZI5S ©2
el JTORER e | Tfeare (alsiarre izs 23, aft
wsifen e o |

@7 5td BCCI FdR AAe-Gle® Sew@lal T8
T T G3R e Recaisre! gwie s ey e
ARTSTS (Tlot AT 270 | @2 s Traoieea 70 T4
A * SFT FEE AP WG NER & (R0 (AT
fifore =01 | w9l @6 fifa egea™ o=, BIGreia |
Tfel I2@d 9B G, ACF FEAR AT 21955 F41
TR, Wi e @, S B ey €3 SAmie fee |
*-q3 ST AL AR O FHRFAT weE BCCI
T T 24%0 IR ©f 92 AHEF & et | @fb
TS SRl fze, ISy BIld 2058 T |2 g
GG OO [F 619, i Ao i@ Sive Bieeiros
B AP (b R T AR | 3 AT Tl e
2 @3 @, BCCI €399 NADA-3 dfewiaa sgsfe 2@
T IR OIS WE (Gt veea Fomel Twicee @id
O3, TR AR FANSEAL (-9 2022-9 TR¥aZe
@1 NADA-F 9Hie fceoe 9@ fe@okma
Termiface BCCI feifae sWicss e siovm @i

P

ES[oF (G5 FCHEe WADA-T @Y JFE I
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cricket is just a reflection of skill and that drug-
enhanced muscular efficiency cannot influence
match results. Sport has to be a level-playing field
and itis finally one with the willow-game subjecting
itself to universal drug-testing rules.

26. Whichofthe following statements is notimplied
in the passage?
(A) Sports persons need to be disciplined.
(B) Sports persons may try all means to win.
(C) Sports persons do not follow rules.

(D) Sports persons should be honest and obey
rules.

27. Whichofthefollowing bestreflects the author’s
view of human conduct?

(A) Which is ideal regarding human conduct
may not always be practical.

(B) People are usually honest and idealistic.

(C) People are irresponsible and need to be
disciplined.

(D) Human behaviour is unpredictable.

28. Which of the following options is closest in
meaning to the word ‘behemoth’ asused in the passage?

(A) A large and cumbersome body
(B) A government agency

(C) A powerful organization

(D) A regulatory body for sports

29. According to the author, The Board of Control
for Cricket in India
(A) was unwilling to test its players for drugs.

(B) wasreluctantto acceptany of the conditions
of NADA.

(C) was forced by the Sports Ministry to accept
NADA'’s conditions.

(D) was being over-protective of its players.

Y-10

o767 | g2 Siffane sifemier A1 2 =i A SR
Tfoe 99 @, &t vyl wreld 2fips a3k (o=
THEOIREE Gl5l (YR T el T | I
TICS FHRO! @ SIAAN] T F1 BH© W3R G TG
(O 0! (RN [Tl Giol (Grod wdie 41 Sfoo |

26. RS @im axells SRwem me 232
(A) Frolfval P<es 2= |
(B) STl (erold el 711 T 2120 T |
(C) Freifval e s Siees =11 |

o~

(D) FICifma AL ZEe G- ANEF 7= cE |

27. SES SU6RE T FTAEF LN 0L FC
ICEIGIRCEC DREERITE
(A) Tl S, o1 SRR SBace 7% 24S 703,
G TG TS AN |
(B) ST IS AL @R SM=(QI7 |
(C) Wi ifRTeme 3% OIS =&l T
T |

(D) TR B Sea |

28. W53 @ TEl Smam T (@ENe-a3
A LS O 2R Y 2
(A) @35 J2e @3 R 7zl
(B) @< Fifs 7z
(C) @36 Jnres A<
(D) @3 Fro-fanRs <3l

29. (14cRS WolepAlcd The Board of Control for
Cricket in India

(A) REARGHE Gl Grb Sifvgs e |

(B) NADA-3 (I *IS A2 Sz 12 |

(C) FENIE @ NADA-F *$ A A4
2R |

(D) e (AT mE A SfoNay
TS 2o |




30. Which of the following phrases used in the
passage is not a metaphor?
(A) Silver-lining
(B) Match-fixing
(C) Willow-game
(D) Greased with greed

31. Whatis the instrument known as for measuring
earthquake?

(A) Quake meter
(B) Quake graph
(C) Seismograph
(D) Typanic graph

32. Which branch of philosophy examines issues
pertaining to the nature of reality?

(A) Ontology
(B) Metaphysics
(C) Axiology
(D) Epistemology

33. How many levels are there in Panchayati Raj
system in India which was constitutionally formalized
in the year 1992?

(A) Two
(B) Three
(C) Four
(D) Five

34. What is the next term in the following series?
4, 20, 35,49, 62,74, ?
(A) 79
(B) 81
(C) 85
(D) 91
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30. fsfEfee @ w0 TeTids 972
(A) Fiifer gfs
(B) SU5-ffa
(C) -1
(D) farTe T3e faw

31. Ol M5iF [0E A F 2
(A) @IS [WoR

(B) @G aiiF
(C) Priars
(D) SR o

32, VHITER (IR #14] AR Pio R e
ST 2
(A) SIS (Ontology)

(B) (GIfwfersy (Metaphysics)
(C) =nifeesf& (Axiology)
(D) @f*PIGETE (Epistemology)

33. 1992 A ARRAETOE CiHCe FFroAY
26 Fer AR FAH 4l NZ ?

(A)
(B) fom
(C) o=
(D) #ii5

34, @3 T ATS! WA F 2
4,20, 35, 49, 62, 74,?
(A) 79
(B) 81
(C) 85
(D) 91
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35. Noise pollution is created if the noise is in
excess of
(A) 80-100dB
(B) 50-60dB
(C) 70-75dB
(D) 40-65dB

36. If the first and seventh letters of the word
‘BUREAUCRATIC’ are interchanged, also the second
and eighth, and so on, then which would be the fifth
letter from the left?

(A) T
B) 1
©) C
D) A

37. Identify the IP address from the following:
(A) 800-315-600-3
(B) 202.50.20.148
(C) 202.50@20.148
(D) 202-50@20-148

38. Given below are four statements:

1. In 1854 for the first time three universities were
set up in India.

2. The progress of education was slow in
pre-independent India.

3. Macaulay’s Minutes did have a crippling effect
on a proper development of education in India.

4. National College was setupin 1906 forimparting
knowledge of India’s art, literature and
philosophy under the Principalship of Motilal
Ghosh.

Select the correct option from the codes given below:

Codes:
(A) 1,2 and 3 are correct
(B) 2, 3 and 4 are correct
(C) 2 and 3 are correct
(D) 1 and 4 are correct
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35. [ G2 WA S 2 OIS el T 2 —
(A) 80 — 100 (TP
(B) 50 — 60 (TR
(C) 70— 75 TP
(D) 40 — 65 (BHIEE

36. T ‘BUREAUCRATIC’ 774 &2/ '@ AL S
2T @R GO Al e T OIFCE Tod *w A
(AT 2ALT ITFAD F 2A?

(A T
B) I

(C) C
(D) A

37. Rl T 1P FFe @b e
(A) 800-315-600-3
(B) 202.50.20.148
(C) 202.50@20.148
(D) 202-50@20-148

38. o ol 9@ e ==
1. 1854 37 Sice 22w feai Rfawrera 2o = |
2. 2 TS Yool OIS R 219 fest 29 |

3. Macaulay-3 FRREa ©iHce 12w g Tafea
STEAR feed |

4. 1906 A Trer FeTe BHS z@ies wfose
CAEE TLFAR @A SFe 6, Az 8
w-93 R reT 7w |

Twa Ieeiia e 7 =
(A) 1,2 9% 3 AF

(B) 2,3 93K 4 Al

(C) 2 @R 3 AT

(D) 1 @R 4 7S




39. Virtual memory means
(A) an extremely large main memory.
(B) an extremely large secondary memory.

(C) an illusion of extremely large main
memory.

(D) atype of memory used in super computers.

40. How many goals are there in the Sustainable
Development Goals (SDGs)?
(A) 37
(B) 27
©) 17
(D) 7

41. The standard error is a statistical measure of
(A) the normal distribution of scores around
the sample mean.

(B) theextenttowhich asample meanis likely
to differ from the population mean.

(C) the clustering of scores at each end of a
survey scale.

(D) the degree to which a sample has been
accurately stratified.

42. Which of the following abbreviations used in
footnotes and endnotes means ‘in the same place’?
(A) et.al
(B) loc.cit.
(C) ibid.
(D) op.cit.

43. What are the Primary Goals of Sustainability?
(i) To end poverty and hunger.

(i1) Better standards of education and healthcare—
particularly as it pertains to water quality and
better sanitation.

(iii)) To achieve gender equality.

(iv) Sustainable economic growth while promoting
jobs and stronger economies.
Codes:

(A) (1), (i) & (iii)

(B) (), (i) & (iv)

(C) () & (iii)

D) (@), (i), (iii) & (iv)
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39. =i fe Jl SRpAE e o
(A) 93 ST RHIE e i |

(B) g6 orey® fomiiet Sigiyie f |

(C) =T rorg i ikl Ffox @ |

(D) €3 AR o Al FoAF FAFTHIE 0
2|

40. APTHEERE (BISAAT (Al (SDGs)-a (G
M T 02 2
(A) 37
(B) 27
<) 17
(D) 7

41. Standard error 251 4F1 statistical sIfF=i%f Tl

(A) Sample mean-93 IAfWFC normal
distribution of scores |

(B) Population 5% € Sample 51%-49 ¥&J
SfIefcmra #ifiet |

(C) Survey (F@A #f® #lt® Clustering of
scores |

(D) @35 sample TOUH S TGS stratified
7|

42. IVGIA A FOHEIG TILT 283 @F ACHAN T
o1l ‘G I ?
(A) 95. 9. (et.al.)
(B) &. B15. (loc.cit.)
(C) 2. (ibid.)
(D) =19 5. (op.cit.)

43. SAGIFRED (Sustainability)-3 AlfSF RS
2
(i) wifs@ (Poverty) '@ 4 (Hunger) 73 341 |
(i) Sf4Fed SFe gl @R F1F I8 —[eiTe
T W @ OO IR G937 (better sanitation) |
(iii) o7t 1o (gender equality) & 1 |
(iv) ﬂm (Sustainable) ST waaifs &
G Tafe ¢ T TS |
NI FAGIRIR W AP 28
(A) (1), (i1) @ (iii)
(B) (1), (iii) 8 (iv)
(©) (i) (iii)
(D) (), (i), (i) € (iv)
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44. Gurukul system of education in India flourished
during
(A) Vedic and Upanishadic period
(B) Mauryan period
(C) Kushana period
(D) Gupta period

45. Sultan, Ahmed and Kashim start a business
each investing Rs. 20,000.00. After 5 months Sultan
withdraws Rs. 5,000.00, Ahmed withdraws
Rs. 4,000.00 and Kashim invests Rs. 6,000.00 more.
At the end of the year, a total profit of Rs. 69,900.00
was recorded. Find the share of each.

(A) Rs. 20,500.00, Rs. 21,200.00,
Rs.  28,200.00

(B) Rs. 21,200.00, Rs. 25,000.00,
Rs. 23,700.00

(C) Rs. 20,500.00, Rs. 20,400.00,
Rs.  29,000.00

(D) Rs. 21,600.00, Rs. 26,200.00,
Rs.  22,100.00

46. On completion of one year of NEP 2020 in July
2021, the Government of India has announced the
decision to offer Engineering degree education in five
Indian languages. Identify the language in which
Engineering education will be taught.

(A) Assamese
(B) Odia

(C) Maithili
(D) Bengali

47. Which of the following is the most appropriate
criterion for evaluating the effectiveness of teaching?
(A) Learning outcomes
(B) Course completion
(C) Scope of teaching-learning content
(D) Use of teaching aids

Y-14

44, @ A SITOAE ‘wFFe A W M
ST 22
(A) @7-SHATTIWR FIE
(B) GN¥ Jits
(C) T e
(D) @® I

45. JETOlN, REm G I Ao 20,000 GBI
M Q6! T & 941 | 5 P 21t Ferels 5,000 Gl
G3R S1ZEM 4,000 51 9 0T | IR 6,000 Tl <07
fIcel 961 | 9= (I O 69,900 TisFl 577 F9e | foe
(IR SRR SATII 2o

(A) 20,500.00 =¥,  21,200.00 GBI,
28,200.00 Gl

(B)  21,200.00 5=,  25,000.00 TiF,
23,700.00 Gl

(C)  20,500.00 5=F,  20,400.00 TiF,
29,000.00 BRI

(D) 21,600.00 5=,  26,200.00 GBI,
22,100.00 =l

46. T3 2021 AAtsT NEP 2020 G 924 545 209 ©Ie
TRIIER PIaE (el 21 202 @ 2feghifg fofa e
e S SR ment 7@ | @ oitee gt
e MifEre 39 2@, 12 ORIt biere a5 |

(A) ST
(B) efex
(C) e
(D) <

47. Sfeeefrs g @Rt Rreviee s
ETRIS &) AR GG TS 2
(A) g sifelfs

(B) *Nojea wAfomife
(C) =SeolideTa AMS wifaf/<mifes
(D) ity TRt g



Directions: Question Nos. 48 — 50

In the following diagram ‘rectangle’ represents
men’, ‘triangle’ represents ‘educated’, ‘circle’
represents ‘urban’ and ‘square’ represents ‘government

3

employees’.
mo 7
12 6 |13
9 11 14

48. Which one of the following represents urban
men government employees?

(A) 12
(B) 6
() 13
(D) 4

49. Which one of the following represents the
educated men but not urban?

(A) 9
(B) 5
© 4
(D) 11

50. What is represented by the number ‘4’?
(A) Educated government employees
(B) Urban educated men
(C) Urban men

(D) Urban educated men government
employees

Y-15 00-1

el e =R 48 (AT 50-99 T

S Bfkce ITerwg wFl o, fage @@l
Wfre, I Al wwE @R CwFG 7@ TR
A @RI 2@ |

8 10\ 7
12 |6 \13
9 0 14

48. B @ WM #2777 TR TR
T 33 2
(A) 12
(B) 6
(C) 13
(D) 4

49. 7 @ 712 ol g fre e g we@
pER:
(A) 9
(B) 5
(©) 4
(D) 11

50. oa @ el 4 w2t T fofers 23 e
(A) MfFs TifF =&

(B) *i=a fifiFe 7571
(C) *I=@ 77
(D) *izz WifEFs sz Faaifa S
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